 Plug
<Q Check Valve R Northwest Automatic Lubrication
o Pum i :
. Side Bridge | ump GC Block schematic for:
) 8 —_—— Weyerhaueser Cottage Grove
E Front Bridge South Log Deck
3 9
%  Port Plug Tegr
Removed 4 10 3 E lE)Block.Serles.. LI_S]]I;/IIZOZ
5 11 umping unit -
@ Inlet plug cc/minute - 3.6
6 12 - - i
© et e Q> © Re-Set Ind. - 3,000 psi
7 13
B Elbow fitting o Q @ Points - 44
in front port Block Numbering for a 6/12 Block On - Time  minutes - 19:00
@ Re-set Ind. —| B Off - Time minutes - 30:00
. TSs-TSs
Note: 1SS F © 3/30/17 LSP-GC-003
Blocks that have a block plug, may exit from either side. EM10
1
| EMI10 TSs-TSs O O EM10
5T TSs-TSs
0@ O© LR e o 0@ O
1 408
Left west 2 15/16" Bearing s Right west 2 15/16" Bearing CEOXONCNE' 41 Bearing 1 42 Bearing
EMI0, TSs-TSs 2 6 | EM10, TSs-TSs . ® @20(59 @ " <Q EMI0, TSs-TSs 2 100 g EMI10, TSs-TSs
Left center 2 15/16" Bearing 25 Right center 2 15/16" Bearing 30S #3 Bearing #4 Bearing
s-TSs 7 | EM10, TSs-TSs
EMI10, TSs-TSs 3 s-TSs D> s @ @ @ ® 1 j;_ EM10, TSs-TSs 3100 9 EMI0, TSs-TSs
Left east 2 15/16" Bearing Right east 2 15/16" Bearing 208 i i
EM10, TSs-TSs 4 75 8 | EMI10, TSs-TSs Q @ _| #5 Bearing 4 #6 Bearing
6 @ @ ® 1 EMI10, TSs-TSs 100 14 EMI10, TSs-TSs
Left 3 15/16 Bearing Right 3 15/16 Bearing 158
EM10, TSs-TSs 5 100 9 | EM10, TSs-TSs #7 Bearing #8 Bearing
N 7 @ (OXOXC IR EMI0, TSs-TSs 5 100 11 EM10, TSs-TSs
4/8 O O #9 Bearing 6 1 #10 Bearing
Reject Conveyor Bearings 6/12 Block EMI10, TSs-TSs 100 EM10, TSs-TSs
LSP Primary Block #11 Bearing 7 14 #12 Bearing
EMI0, TSs-TSs 100 EMI0, TSs-TSs
: ()
EMI10 TSs-TSs
6/12
(o) @ (o) TSs-TSs | EM10 Center Mainshaft Bearings
1 (o] @ (o]
#1 Bearing #2 Bearing EM10
EMI0, TSs-TSs |2 100 EM10, TSs-TSs 1
) #1 Bearing #2 Bearing (@) (o]
#3 Bearing #4 Bearing EM10, TSs-TSs |2 100 5] EM10, TSs-TSs @
EMI0, TSs-TSs |3 100 9 EMI0, TSs-TSs 1
. . #3 Bearing #4 Bearin #1 Bearing #2 Beari
#5 Bearin #6 Bearin 3 g canng
EM10, ng;_TSS 4 100 1d Enro, ng;_TSS EMI0, TSs-TSs 100 6] EM10, TSs-TSs EMI10, TSs-TSs |2 100 5| EM10, TSs-TSs
#7 Bearing s 1] #8 Bearing #5 Bearing 4 7| #6 Bearing #3 Bearing 3 #4 Bearing
EMI10, TSs-TSs 100 EMI10, TSs-TSs EMI10, TSs-TSs 100 EMI10, TSs-TSs EMI10, TSs-TSs 100 6| EM10, TSs-TSs
#9 Bearing #10 Bearing ° , -
! 6 14 #5 Bearing 4 7] #6 Bearing
EMI0, TSs-TSs 100 EM10, TSs-TSs 36 EMI0, TSs-TSs 100 EM10, TSs-TSs
#11 Bearing 7 14 #12 Bearing End Conveyor Bearing Block o}
EMI0, TSs-TSs 100 EM10, TSs-TSs
3/6
()

Front Idler Bearings
6/12

Middle section Idlers



